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20l 22 - FHAY - RAAS(SH) O &F of SHUE T O AboH HnE2 =
IE43T MEAFIZ SISO ZHELHD| 895,015 609,880 285,135 46.75%
2Se3H)
OB20 2N ZRA(AZZS0ELFH) 1,019,579 1,085,892 66,313 AB.11%
= 152,737
= 46,082
2 820,760
SER RS 1,376,827 3,292,749 A1,915,922|  AB58.19%
5. 52 1,376,827 3,292,749 A1,915,922|  AB58.19%
sSHHM A5 89, 169 177,300 AB8,131|  A49.71%
MAXT 2SN (BESTUNSAISSE 89, 169 177,300 AB8,131|  A49.71%
31 H)
sSEas UMY 1,287,658 3,115,449 A1,827,791|  AB8.67%
SHEASSU NAM(SHALSSUHAY 1,287,658 3,115,449 A1,827,791|  AB8.67%
SH3H)
ZEUR A 725,700 1,621,600 AB95,900 | AB5.25%
XYz Al 20,900 25,800 A4,900| A 18.99%
FAHEAMM 20,000 25,000 A5,000|  A20.00%
SUSNS L (FHAISSHE ) 20,000 25,000 A5,000|  A20.00%
Xl <4 oH g 900 800 100 12.50%
T HE AEE 22O OIBAEREES 900 800 100 12.50%
& 5| )
Nx=l=Y 704,800 1,595,800 A891,000| ~A55.83%
SZIHX =4 L 29 704,800 1,595,800 A891,000| ~55.83%
SZTA el (sSHANELHSEEA) 304,800 102,800 202,000 196.50%
SZHA TH(sSHANTLSE) 400,000 1,493,000 A1,093,000 A73.21%
ofl 1l Bl 18,080 0 18,080 =5
ol 5l Bl 18,080 0 18,080 =3
Ofl 1l Bl 18,080 0 18,080 =3
OlHIHIH (A Z2HES L3 H) 18,080 0 18,080 =3




